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COER University
END SEMESTER EXAMINATION, EVEN SEM 2022-23
Time 3 hours Total Marks : 100
Program Name : BBA semester :II

Course Name Business Finance Course Code : BBA202 oR &

::::: All questions are compulsory. No student is allowed to leave the examination hall before the completion of the

| Attempt Any Four Parts. Each Question Carries 5 Marks. B _T:%Ql—m %'*—

Mis_hbetween ‘systematic and unsystematic risk
Discuss the different types of investment risk, and how can
_managed? Y.
Calculate the expected rate of return for securities from the follov‘yiy information. Igs | CO1 | 1
=10%, Rm= 18%, Beta=1.35 p'

3

2

]
they be mitigated or co1 1,2

A 16% bond with face value of Rs 250 is available for Rs 200 in the market. Find out co1

| the yield of the bond
What are the different methods of valuation of Assets? Explain in detail the economic | €O 1

value concept? -

Using 10% as the cost of capital determine Net Present Value.

Present value factor at 10% are as follows. !
] 2 3 1 5 Gl | 7 8 9 10 ﬁ} ‘ |
909 | .826 |.751 |.683 |.621 |.564 [.513 | 467 | 424 386 ‘

(d) | “The payback period is more a method of liquidity rather than profitability” examine | €02 | 3

this statement.  © .« v ) ‘

Attempt Any Four Parts. Each Question Carries 5 Marks. co | BL |
Explain the role of risk in investment decision co1l 1,2
Explain How do you determine the cost of capital, and how is this used in capital co2 (23
budgeting decisions? |
A company require an initial investment of Rs 40,000. The estimated net cash flows | CO 2 ]
are as follows. (Figure inRs). = _ |
Year |1 2 3 4 5 6" 7 8- 9 10 [
Net [ 7000 | 7000 | 7000 | 7000 { 7000 8000 | 10,000 | 15000 | 10,000 | 4000 ‘!
j cash Y THEIRL ;
‘; flows ) ‘ | \
|
\
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" (e) | Enumerate the important sicps in capital budgeting? c02 3

"Q.No 3 | Attempt Any Four Parts. Each Question Carries 5 Marks. - _j:ég IBL.
(a) A company's stock is currently trading at RS 50 per share, and the company pays an annual co3 |23

dividend of RS 2 per share. The company's expected growth rate is 5%. Calculate cost of
capital. - - |
(b) | What are the advantages and disadvantages of debenture as an instrument of financing | CO3 | 2 |
from the point of view of the company as well as the investors? |
(c) A company issues a debenture with a face value of RS1,000 and a coupon rate of 6%. | CO3 | 2,3
The debenture has a maturity of 10 years, and the company is in the 30% tax bracket, ,

The market price of the debenture is RS950. Calculate the after-tax cost of debt. |

|
L — B
| (d) | Examine the advantage and disadvantage of equity financing. v | E_o__a_{ 3
| (e) |Differentiate between debt and equity financing, and explain how do they impact a co3 23
| company's cost of capital? S ] .%

1

23




«No 4 | Attempt Any Two Parts. Each Question Carries 10 Marks.
(a)

CO | BL
T ing 4 35
Explain the concept of capital structure, and discuss how is it different from financing | CO ’

] decisions? — 04 (35
(b) Discuss the different theories of capital structure, and explain its 1mport_ancﬁ?? | canital C(::O a :;
(<) What are the assumption and implication of NI approach? Is there an optimal cap

structure as per NI approach.
, _ L
- No 5 | Attempt Any Two Parts. Each Question Carrles. 10 Marks. C%OS :4
(a) Explain the meaning of working capital, and discuss its important for a company to ’
manage its working capital efféctively? _ i
(b) | Discover the advantages and disadyantages pf paying dividends, and discuss how cana | CO5 | 2,4
company balance its desireto pay ividends with 3}her;ipancla] objectives?
(c) | Discuss the estimation ’c’)f wovrkinlg capital need based on operating cycle process. COoO5 | 5

End of Péper
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